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D is the correct response, and

D was used to grade the 2 cA B fC D CE
exams. C was posted here in 3 oA ©B C €D CE
error. 4 CA B cc oD ¢ E
5 ©A CB cC D CE
We appreciate Greg Funchess 6| ©A | OB | °C | oD | ®E
taking the time to point out the T|©a | o8 | ©°Cc | @B | °F
mustalke. 8 CA ©B ©C €D CE
9 CA CB & C oD CE
10 A OB cC oD CE
11 CA & B cc D CE
12 CA B cC D cE
13 CA B cC cD ~E
14 A &+ B cC cD ~E
15 CA B oC & D CE
16 mpr—— () M [[(————
17 CA B cC cD ~E
18 CA B cC cD =
19 ©A CB cC D CE
20 CA CB CC oD & E

#21 - A very good approximation is 0.806241.



